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Part — 11 ¢ :
ACCOUNTANCY WITH COMPUTERISED ACCOUNTING
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Answer the following questions from 1 to 37 up to a maximum Score of 60.

From the following questions answer for 40 Scores from Part - A and 20 Scores from

Part-B.
PART -A
(ACCOU'NTING)
L. Questions from 1 to 4 carries 1 score each. - (@x1=4)

. Which of the following is not included in the final accounts of a not-for-profit
organisation ?
(a) Profit and loss a/c.
(b) Receipt and Payment a/c.
{c) Income and Expenditure a/c.
(d) Balance Sheet

2. Partners are entitled to get which of the following in the absence of partnership
deed ?

(a) Interest on capital at specified rate.

(b) Interest on partners loan @ 6% per annum.
(¢) Salary or Commission.

(d) All of these

3, Suresh and Vinod are partners in a firm sharing profits in the ratio of 4 : 1. They
admit Hari as a partner for 1/6 share. Their sacrificing ratio will be

(@ 3:2 s (b)) 4:1
() 2:1 (@ 1:1
4 The revaluation profit or loss at the time of retirement’ of a partncr is distributed
among the partners in ratio.
(a) New ratio (b) Oldratio °
(¢) Gaining ratio : (d) Sacrificing ratio
~IL  Questions from 5 to 7 carries 2 scores each, (3x2=6)

5. Where will you record the following items in the final accounts of a not-for-profit
organisation ?
(i) General donation
(ii)) Life membership fee

. (Hint : Debit or credit side of Income and expendlture a/c., asset or liability side
of Balance Sheet) + Tatia
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6. Muneer, a partner in a firm withdraws T 4,000 at the begining of every month for
12 months. The books of the firm closes on 31% December &very year. Calculate
interest on drawings of Muneer @ 10% per annum.

7. State any two differences between dissolution of partnership and dissolution of
firm. ;

I1l. Questions from 8 to 10 carries 3 scores each. 3x3=9)

8.  State any three features of Not-for-Profit organisation.

9, Calculate value of goodwill of a firm on the basis of 3 years purchase of super
profit given that capital employed is T 2,00,000; normal rate of return is 10% and

-average profit for last few years is 25,000. :

10. Anu, Manu and Sonia are partners in a firm sharing profits and losses in the ratio
of2 : 1: 1. Sonia retires and the goodwill of the firi is valued at T 1,20,000.
Write journal entry regarding adjustment for goodwill.

1V. Questions from 11 to 15 carries 4 scores each. (5%x4=20)

{1. State any four differences between Fixed Capital Method and Fluctuating Capital
Method. !

12. Record the following in the Revaluation a/c. of a firm‘at the time of admission of
a partner.

(a) The value of furniture increased by ¥ 5,000.
(b) Unrecorded investment ¥ 3,000. 4
(c) Pravide ¥ 1,000 for doubtful debt. i 7
(d) Stock reduced to ¥ 24,000 (Book value : ¥ 30,000)
13. Kaushik and Devan are partners in a firm shaﬁng proﬁts and losses in the ratio of

ME-50

3 ;2. They admit Arjun into partnership with 1/4 share in_profit. Arjun brings
% 30,000 for capital and his share of goodwill:in cash, Thegoodwill of the firm is
valued at T 20,000. Their new ratio is 2 : 1 {4 Give journat entries.
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14. Balu, Rajesh and Abhijith are partners in a firm. Rajesh retires from the firm. On
the date of retirement ¥ 48,000 due to him. Balu and Abhijith promise to pay him
in four equal yearly instalments plus interest @ 10% per annum at the end of
every years. Prepare Rajesh’s loan a/c.

15. Write the journal entries for recording the following transactions at the time of
dissolution of a firm. ‘

(a) Assets realised ¥ 36,000.

(b) Liability paid by Ashok, a partner ¥ 4,000.
(¢) Realisation expenses paid by firm ¥ 1,000.
(d) Furniture taken by Sunil, a partner ¥ 5,000.

V. Questions from 16 to 20 carries 5 scores each. (5x5=125)

16. Differentiate between Receipt and Payment Account and Income and Expenditure
Account (any 5).

17. From the following information ascertain the amount of subscription to be shown
in the Income and Expenditure Account of A-One Sports Club for the year ending

31.12.2020 :

(a) Subscription received during the year 2020 Z 72,000
(b) Subscription outstanding on 1.1.2020 % 4,000
{(c) Subscription received in advance on 1.1.2020 3,000
(d) Subscription outstanding on 31.12.2020 ¥ 5,000

(e) Subscription received in advance on 3 1.12.2020 % 2,000

18. Sumathi and Manju are partners in a firm sharing profits in the ratio of 3 : 2. Their
capital balance as on 01.01.2020 was ¥ 40,000 and ¥ 30,000 respectively. The
partnership provides that Sumathi is to be paid a salary of Z 1,000 per month and
Manju is to get a commission of ¥ 10,000 for the year. Interest on capital is
allowed at 8% per annum. Interest on drawing charged from Sumathi ¥ 1,500 and
Manju T 1,200. The net profit of the firm before making all these adjustments was
T 74,900. ’

Prepare Profit and Loss Appropriation Account.

19. What do you mean by goodwill ? Explain the various factors affecting the value
of goodwill of a firm.

ME:50 | . 6
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30. Answer the following : :
(4) Lallu and Omar are partners in a firm sharing profits and losses in the ratio
of 5 : 3. They admit Mathew as a partner. On the date of his admission their
balance sheet showed a balance of ¥ 24,000 in profit and loss a/c. (Dr.) and
% 12,000 in reserve fund. ‘
Record necessary journal entries for treatment of accumulated profit or loss. (3)
(b) Calculate the value of goodwill on the basis of three years purchase of
average profit of last five years. The profit for the last 5 years were : Q)
Year 2015 2016 2017 2018 2019

Profit | 40,000 | 36,000 | 44,000 | 45,000 | 35,000

VL. Questions from 21 to 22 carries 8 scores each. ‘ (2x8=16)

21. From the following Receipt and Payment Alc and other, information, prepare
Income and Expenditure AJc of Multi Star Sports Club as on 31 12.2019:

% Recelpt and Payment A/c for the year ending 31:12.2019

Recelpts Amount Pnyme;ﬁ,, Amount
® Gk ®
Balance b/d : Salary 10,000
Cash in hand - 14,000 | Electricity . 6,000
Cash at bank 6,000 | Furniture 40,000
Subscriptions 78,000 | Investment 5,000
Entrance fee 3,000 | Wages A 3,000
Donation for Building 25,000 | Stationery 2,000
Locker rent , 2,000 | Rent 1,000
General expenses 6,000
Interest 2,000
Balance ¢/d :
Cash in hand 15,000
Cash at bank 38,000
128000 . 1,28,000
Other Information : ‘ e

(a) Subscription outstanding on 31.12.2019 amounts to T 4,000.
(b) Electricity includes a sum of T 500 paid for the next year, -
(c) Half of entrance fee is to be capitalised. "~ = e

ME-50 8
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22. Given below is the balance sheet of Akhil and Ameer carrying partnership
business as on 31.12.2018. Akhil and Ameer share profits and losses in the ratio

¢

ME-50

of3:2, } '
‘Balance Sheet of Akhil and Ameer as on 31.12.2018
il Amount ' s Amount
® ®

Sundry Creditors 68,000 | Cash in hand 40,000
| Outstanding expenses 2,000 | Sundry debtors 50,000
General Reserve 15,000 | Stock 40,000
Capitals : Plant 1,00,000
Akhil  1,80,000 Buildings 1,50,000
Ameer _1,50,000 3,30,000 | Investments 35,000
4,15,000 4,15,000

Carlose is admitted as a partner on the date of Balance Sheet on the following

terms :

(a) Carlose will bring ¥ 1,00,000 as his capital for 1/6 share in profits.
(b) Plant is to be appreciated to ¥ 1,20,000 and buildings is to be appreciated by

10%.

(c) The value of stock is reduced by 10%.

(d) A provision for doubtful debt is to be created at 10% of debtors.
(e) Creditor were unrecorded to the extent of ¥ 1,000.
Prepare Revaluation a/c. and Partners Capital a/c. after the admission of Carlose.

PART-B

COMPUTERISED ACCOUNTING
VII. Question from 23 to 26, Carries 1 score each : s
23. The code assigned for Kerala as “KL” and Tamil Nadu as “TN" is an example of

(a) Block Codes
(b)° Mnemonic Codes

{c) Alpha Numerical Codes

(d) Sequential Codes

10
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24. The intersection of a column and a row in spreadsheet is called as :
(a) Range (b) Cell '
(c) Work sheet : (d) Work book
25. The function used for preparing loan repayment schedule in, Libre office calc is
(a) SLN (b) PMT
(c) AND (d) DB
26. Which of the following is not a system generated ledger account in GNU Khata ?
(a) Opening Stock
(b) Stock at the beginning
(c)  Closing stock
(d) Cash
VIIT, Question from 27 to 30, Carries 2 scores each: * o @4x2=8)
27. - Select the financial functions from the following :
PV, RATE, IF, ROUND, COUNT, NPV, LOOKUP, ACRINT.
28. Name any four elements of a chart or graph.
29. State any two advantages of charts and graphs in business applications.
30. Fill the series as per hint given :

MB-50

Transaction Voucher Type | Function Key |
Salary Paid Payment F§
Deposited into Bank
Interest received

12
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X

X.

XI.

Question from 31 to 32, Carries 3 scores each : (2x3=6)

31.. Briefly explain the functions available in Libre Office Calc for calculating
depreciation under Fixed Instalment Method and Diminishing Balance Method.

32. Describe the procedure to prepare a Bank Reconciliation statement in GNU
Khata. : ;

Question from 33 to 35, Carries 4 scores each : Bx4=12)
33. Explain the security features of Computerised Accounting System.

34, Describe the features of Libre Office Cale.

35. Briefly explain the following :

(a) Tables
{b) Forms
Question from 36 to 37, Carries 5 scores each : 2x5=10)
' 36. Lists the merits and demerits of Computerised Accounting System (CAS).

(any 5 each)

37. Explain any 5 statistical or logical functions in Libre Office Calc.

ME-50 . T
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31.

adleimoay adnigodendf dofl aidkleles’ dlol agaiar (o
2EISHDWo  BEMANOAMMEHMIE eflgnaindiay’ eocialod eisia00iges
AnNEBaHMBOR algl 21j03a6f Al dlend.

32. sdmpnomoied mioe GRMEIHRM algle MY nq)mm)mmﬁ‘
AlaBRcEa®:. : .
X. 33 aomad 35 ueew)9g 6araienudas 4 sapod aflme. (3x4=12)
33, emyseeomiw’ @reevendleus’ Tueaflwomaniieng  aujRGaAInRIW
moafleutauma:ud aflaucles)s.
34.  elguaoadlay @omdalong auallernmadd alweas)s.
35.  @osw @arigigaal afludlen)s :
(a) cseniiAmy
(b) candomy
XL 36 d;amﬂ 37 alpom)pg caroayEndes’s capod ofime. 2x5=10)
36. amggesomiar’ @psevaels’ musaliwomomilen wEMengle SaosamE0e
AUSMAINS.  (aBODBIENO 5 nf)iYo)
37. elgneoadny’ somdalen gemelen @oemi quogiaylensd aegmlas

ME-50

CI0ElANME aDEBaMM)EGUE ANBR0SN S,

15 s



